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BRI (RE2) i EXE  |BEtoas 400| ke "N &= T 1,000| ke
Eih HErE g = |[Ee  FE Al FBEFAL EFA5H 200| kg 7o 100| ke
RIF fiftE s £t 113k 230| {& BIERE [FEL745 50| ke 9= 1,000 #
= W3 KR4k 300| f& ERE Ea454 200| ke FES NS4} 1,000 #
bt et =) & EAR 45 200| kg REA& St 1=1::228 THY 1,000| kg
INFI47Y3k & Wk EENIY 100| kg s AXBS |Ei 100 ke
EiR Wt [InNR6A & x5 lzz& L7451 100| ke FES B FE 100 ke
=1 UML) ¥n7k & 1= BAR LS 100( kg EE A5 7% 50| ke
I wIys [TV & T2 ZR 300| ke Bt 2,350 ke
H 530 {& 1] P R E TN 100 ke 2,000 #
EE K ETHY 100{ kg
ke it 1,850 ke &5 5650ke
6,850 {&
EEih HEE aE BE | (FE nEE 1,300 &
FI& LB FLY . F 5 200| {& 2,000 ¥ HFEEE
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R ¥ 5 2,000 {E 1RIE =& #9355 100| 4@
5 EZ. 7Y% 150| & st B A5t 150| &
IMER REL) 200| {& = 50| &
X9 B# ATA & s 100( &
A 7. 7545 250| {& ZR #9551 200| 18
lz&E #97. 705 150( f& BB 100| &
ER #9545+ 100| {& §EiR 1A 100| {&
ES ¥93. 75 100| {& = #9551 50| &
br s 50| kg *hE 7 7')5 50| @
M N54h5t 150| {& E-Ti] 10 50| 1
EAR 150 {& s M4 5 50| &
R i&4R kg o 4hrya- B 1hst 100| 1@
HEAR FEX WMANA 100| {& B WUkq V) 150| {&
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HER WET) 1,000| kg Bl BT 400| #%&
X453 & BEREN [Avtais  |Ehon's 850( A&
(OER] VT 5 50| & =#45 EEIA 100| &
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